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Is it not so; that he alleged the claim of 702 N

OVERVIEW

noY 27 attempted to show that the 7awn of "1 i 98X 9010 teaches us that the
husband is believed n21n> 77°0977 with 9"5 nwwv. Our MdoIn discusses why he is
not believed in 777 as well.
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And regarding 7717, he is not believed 1n21n> 77°097% even though there too
there is the 1P of 77°092) 7702 7L DR ]’x,z asvy'wn explained3 -

mooIn offers an alternate explanation:
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Or you may also say; since he is secluded with her, he certainly had relations
since a person cannot contain himself in such a situation.

Mmoo anticipates a difficulty:
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And even though that regarding a 77%23, the Xn) states one can control himself
up to thirty days, and here we assume that he cannot control himself at all —

mooIn responds that nevertheless -
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! The reason why a person is believed with 7n21n>2 77°09:77 0°71N2 NI is because (as the XA explains on R,”) PR
77°09M1 7TIY02 1 07X — a person does not toil to have meal and then destroy it. See *"w1 there 7P 71"7 that he
must be telling the truth, for if we assume that he is lying because he does not like his wife, why go to the bother of
making a wedding feast and then losing your wife; it would be easier for him to divorce her while she is still an
1017R (where she does not receive a 12102).
> Why therefore is he not believed even in 777, since the same 7Pt applies there?!
? sxn "7, who states he is not believed for perhaps he was %312 while she was an 701X and he forgot. w">y.
According to this explanation (as opposed to the 1"& of moon) there is [merely] a concern that he was % X2.
* According to this explanation it is certain that 7"y X2 and not merely a concern as it is according to @12 (see
footnote # 3). See ‘Thinking it over’ # 1.
> The mawn there states that if a 7n2’ claims within thirty days of 212> that the 02° was not %y X2 (and he gave her a
vy), we force him to give n¥°on (we believe her that he was not 7°2y X2 and therefore she is still 212°2 7pIPT and
requires n1%°7m). However if she claimed after thirty days that he was (still) not 7°%¥ X2 (and he claims he was 7%y X2
and he gave her a v3) then we ask him (but we do not force him) to give 771 (since according to her claim she still
requires 71%°9m), because we believe him and not her. The X3 explains that we believe him that 7°%y X2 because ™ 7v
WD P11 O, but no longer, so the 02 was certainly 797y X2.
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Most times he cannot control himself even for one hour,® for it is with this
intent that he secludes himself [with her], and therefore the 1P of 170 DX PR
770971 Mo is flawed.”

SUMMARY
The 1pm of 77°09M 77W02 AW 27X PR 1S weakened in 7777 either because we
suspect that he was Y X2 or we are certain that he was 7°%y X2.

THINKING IT OVER
1. Is there any difference whether we assume °"w9o that perhaps he was %312 and
forgot,8 or whether we assume '01n;7 0 that he was 5v3 *x7?°

2. moon when differentiating between %2> and 777 writes P XY 27yD 2N
[7ny] T°°nn 19 YT 997 NAR vw 19K woar. ' Is mooin offering two differences (a.
that 7woIX P X2 2°nyd 217 and b. that vy 7°nn 19 ny7 Hv7)'" or merely one'
difference?"

% It is possible that 7°woIx P up to thirty days, but not probable; especially in this case that 72y 77 19 7"3. See
‘Thinking it over’# 2.
7 The 7ipt tells us that he is telling the truth regarding his £°7na nvv; in this case that he was not 7%y X2 during
701°K; however the fact that he was nny 7m°nn tells us that it is most likely that he was 72y X2 and contradicts the
P,
¥ See footnote # 4.
? See 7"¥ NI X2 WM.
1% See footnote # 6.
" 1f it is two differences what is the meaning that by 77 it is 7y 77°n% 19 nwT 9¥7, seemingly by a 72> when he is
7N oNd it is also 12 7"y ?!
"2 1f there is only one difference why the need to write both the 211 and the 75 7"3?
" See anx nx.
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